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39263200 Spwabilywlughte ghpp uu hwin 700 3 2100
30137232 [Fnpwwwlwl wpwquilup PnEw Ul hwwn 100 60 6000
30197231 Nnjhdtipuyhl punubye, duy) Ul hwwn 15 200 3000
30197235 [Fnpwwywlul wipwlny uu hwwn 900 5 4500
30197321 Lwiphs dhligle 20 plipph hwdwp Ul hwin 1700 | 1700
30197112 Ywiphsh dhnwnuiupt Guiwtip Ghopt uu hwwn 150 | 150
30192111 [dwliwph puwpahy Ul hwn 800 1 800
30192114 [dwlwp Yuhph pwpaplh hwdwp Ul hwwn 380 1 380
30199238 dpwyp Ul hwiwn 30 200 6000
39263200 hpwdwbwghpp uu hwwn 550 2 1100
22811150 Unpuwwntinp Ul hwin 2400 2 4800
30192710 Unubdawdwwpun gpuwubilywluwghl uu hwwn 180 2 360
30192121 Gnhs Uy hwwn 100 50 5000
30192125 Uwplbip uu huwwn 120 480
30192160 Pununpwlynip (Quphp) uu hwwn 250 1000
30192137 Uwwnpwn uli uu hwwn 120 10 1200
39292510 Luwlinl U hwwn 180 2 360
30192100 [FEwnpl Ul hwn 150 5 750
30199420 [dninp Upnudh hwidwp unuliaywd Ul hwwn 200 8 1600
30197332 “wlhs dhohl Ul hwn 2500 1 2500
30141200 Suyuwiuwpp gpuutiljwljught Ul hwn 4000 | 4000
39263410 Wdpwly dtnwnw thnpp Uy hwwn 200 5 1000
30197622 [dninp A4 $npdwnp Ul lig 800 75 60000
39263200 ‘Fnwdwnynuwyhl ghpp uu hwwn 1000 | 1000
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Stnbiuwljwl wuypubipbtip
44511110 Fuwh udhlicughli ppduwd q< huwin 2200 4400
44511110 Puwh phwljwht ppoyuwd a< hwwn 2200 6 13200
44500000 PFwhh wny 2804 hwuwnnipyudp q< hwwn 1000 12 12000
44500000 Puwhh wns 32040 hwuwmnipyudp q< hwwn 1200 8 9600
44511130 Gnwl wyglignpowljwl 4 pluwbh Q< hwin 2000 g 8000
44511170 ;)ll:gll]l:]t[”](;hq npdwlwl /dtnwmwliwl /- gnpwd Qe hwn 2500 6 15000
44511200 Unng wjglignpdwlub 35084 a< hwwn 3800 3 11400
39241200 i{:l;”ql'/‘:::’[:l']':l;l‘:b'&‘;' i <33 MR rusg o a< huwwn 7500 I 7500
39241200 Waqblignpowljub dypwn < hwwn 3800 3 11400
39241200 [dthh dhpwn tipljupuugdwl wnyny q< hwiwn 7200 2 14400
39224332 “ny) ghuljuwgun 10) a< hwin 1500 2 3000
31651300 (dnphg hupltwluwsnill dwuwyth 3200 q<L hwn 250 80 20000
16311400 ::]J‘:LLE:FIIEI[EPL[LT(;};-L[L“mullm ninnighly wwptinhntb Q< hun 3200 3 105600
16311400 Rtlghlwjhl tunnhliahsh pl Yhgwbilynii3,500 G< dkinp 170 300 51000
16311400 E)nlsltllglgng!;l:tlL“hhumumm“ Luppnipwmnnnp Qe huwn 3800 3 11400
16311400 tunnhbahgh wuwhtunmwdwu Swqlihnn q< hwwn 2700 3 8100
16311400 I:T::S-T:J:i{ﬁg wwhbunwdwu wnpoht ghhlinp Qe hutn 4300 3 12900
16311400 funnhbahsh wwhbunmwdwo phlquitiuunu Q< huwin 3700 3 11100
42131170 2ph thwlwl dbnmwnwwguunt 2060 q< hwin 2400 2 4800
44163170 &ﬁ;’g’;’; '2‘3‘[;‘;‘[‘““ psipo oimutinpniino a< dtnp 360 40 14400
44163220 funnnuiljh hgwdwu wjwundwub D168 q< hwwn 170 3 510
39263400 funnnyuiyp aquili 25-3200/uwdnia G hwin 150 10 1500
31531300 Lbn judw E27 10w 4L hwin 550 130 71500
31531300 Ltin jwidyy E27 384w q< huwiwn 3100 40 124000
31531300 Lbin jwdyy E27 504w q< hwwn 5600 10 56000
31530000 El'll:l':';'l‘g.‘:L‘i'I‘l‘"“FA'SL“‘“”‘““ b wiwpnt a< hwwn 7800 8 62400
31211220 Wnndwn dhwduwg T6wdwbip 2204njmp q< hwwn 1200 6 7200
31211220 I{-‘C{[:ILIL:]“:LIL[LnnLl win wiligwnps 63T Q< iRy 9500 5 19000
31211220 3-dbwq tnnniughl wynndwn whpwinhs C32A G< hwn 5800 2 11600
31211220 <nuwliph pnnwplihs 32Wdwbip thnpp a< hwwn 3290 | 3290
31211220 <nuwliph pnnuwnlhs 32Wdwtip GG a< hwiwn 6400 2 12800
31521560 Guwn E27 /wjjwundwuwghg/ 4< hwn 1700 45 76500
44161230 Qndnw jupny 1644 a< ttinp 200 90 18000
31321260 <nuwbiph dwinipu MBI 2%2.5 a< ukitnp 270 600 162000
31321260 <nuwlph dwynitpu ATIBIT 216 a< dtiinp 420 150 63000
31321260 <nuwliph dwynipu ATIBIT 1#16 a< dlitnp 110 240 26400
31651000 bupliwlupsnit dwyuitl /hgnylilip/ 4L hwwn 180 40 7200
44161230 Lwdwh NEpbuwnbply Yenwdhluwghg E40-E27 a< hwwn 600 20 12000
31221160 duwdwlwlh ntijli pdughl 35004 Q< hwin 5200 10 52000




44192800 Uhiphuwpwpulhwl ypapl 5064 Q< hwin 600 9 5400
39836000 Uyt hwinwlyh a< hwwn 1200 400 480000
39837000 Wyt pwljp a< hwn 700 420 294000
39836300 Qnquiphwl) wjwunmdwub a< hwwn 260 350 91000
19641000 ::)lllz];()tﬂ-]lbhwm[l wuwpl wnph hwdwp ule Qe - 870 50 43500
44611170 2ph wwpw wjwundwub (50-60), a< hwwn 2700 15 40500
44511270 Unip6 Slyg a< hwn 9000 | 9000
44111200 8kl Q< lg 57 400 22800
14211100 Wwq 2hticupuupualjub Ul Ug 12,5 1800 22500
39839300 (Fhwl anih dwppliynt hwdwp G< hwwn 4800 6 28800
44511220 (gr:;[:ll:y:;)bnh Unduyln 8huinp 8-198d Q< —_—_ 8500 | 8500
44111413/1 Bninuiliipy MNad 115 G< lig 1200 6 7200
Nnjhtphluwhl wwyunwubihs dwol ,

2 : ; o Q. 5 5
Y dtwnwnwlwb onuihibpny 3%4 g e e e E i
38431710 Qph glignin wigtignpdwlwl 4 pl a< hwwn 700 4 2800
44511100 <wppwnipp 20ud pnliwlny q< huwin 2800 3 8400
44511100 Uwnphy ’lﬂ_'l”{UV'W'Il“llh dinnwnuwljwl ntinpbb Qe et 2100 | 2100

wnsny /15004
44511100 Uwinihih Guphy /12504 / q< hwwn 1300 | 1300
44511350 Nuntnwlwhwl dlewdnp nbightit ppliwlny ,,
PH2%200 a< hwwn 1400 I 1400
44511351 ”].Tnrll,uuuumhmll nliqhiti pnlialny /ninpn Q< —_— 1400 | 1400
6%200
44161130 Mnjpkp. funnniuwly 2n /6304 a< Utiup 700 20 14000
44161130 Unininne unnnduily F11004 UJuqugnui 240 Q< - 1000 6 6000
hwunnepjudp
16311400 Qb[lqh[uu_]h[—l funuhbahg |3900 winwitijwgnyl Qe i 63000 5 126000
wuinynny.SYy hgnpnipjuidp
44521170 Unnuwbip /Ywipungp /- 7080 a< hwwn 2700 2 5400
BRIt 3nin 2T /1) a< huww 2200 30 66000
44511100 Lnd phliupwipuwiljut 3044 a< hwwn 9500 | 9500
42415500 Uwtinntfup nibpytipuwy wynidhtt /7 a< hwwn 62000 1 62000
34311160 (fLiFI(III[Illl'II]lI |1111L|1|1l|§[1%l1 unudhl Q< _— 700 10 2000
EEhupualjuduwghle g/
42671170 Rtlghluyhti unng sy q< hwwn 63000 1 63000
18811240 hphuquuﬁhmp’lmghl] adtinwyhli dnpphny/ Qe - 4300 ” 94600
puwliynpuljub /
18811230 YhuwGwpwinp Ynohly /pwbiynpuljwb Q< qnLjq 7300 22 160600
18141100 Whuiwnwlipuwyhli dtinting 100q/ 5-Swin a< qnuq 280 590 165200
18221200 Qpuiywpuguil wpnwhwgniun phlling a< hwwn 2700 10 27000
31711160 Ejtupnn gnndwl 368 wineging /2.5 lig a< hwwn 3000 4 12000
31720000 ?::{;t;unluu_]h dtwwnwhnyhs uljwywnwly /d=1151 Qe o 600 20 12000
44511100 Swyihynbp Gnduybin wwptinhnb 8 Lunp q< hwn 3000 2 6000




Clhnudbtp 3069000
<wlinbipawlip
18111300 YUnuwmynid Yubiag p/puibignpualjuaty q< hwin 9500 7 66500
18111300 Unuwynid innuidwpnny/ pubynpuiljuby q< huwin 9500 15 142500
utpudtlp 209000
Qn LnLuLn[lLnbuullkuu[l Luu"uuLp[Ibn
44921200 Uhp uu g 200 650 130000
24451111 Fnrdwlynip’ Unipli-n uu [huip 8500 1 8500
24451111 Unliphnnp uu |hup 16800 I 16800
24451111 Jdbipupl uud [hwp 48000 0,25 12000
24451111 Pnnnnjul thnpp uud Lg 1800 1 1800
24441100 MNuwpwpunwlynipbp Lnunph gniy /20.20.20/ uu iTe} 1200 6 7200
Clhnwutbp 176300
Ownhllbiph uwodpjutip
03451200 Bhtywyh uwodhjltip Ul huwin 125 850 106250
03451200 Swgtinbiuh uwdpjltip uu hwwn 150 350 52500
Chnwdtlp 158750
Jduwnbkihp
09134200 “Hhabijwht Juinkihp wdwnwght a< huip 350 4300 1505000
“habijuyhle Juntijhp adtinwhl q< |hwp 360 2000 720000
09132100 Rhlghl ntigniywp a< |hwp 380 700 266000
09411700 Flhwluwb ubndwo quq G< g 330 3180 1049400
Chnwdbibp 3540400
Wunnwwhbumnwdwubip
34321121 8ninh qunhs /Shpnp/aUu 53 Ul hwwn 2000 2 4000
31531100 Lwdwbip inLuwpawlh 12V uu hwin 1000 2 2000
31531100 Lwdwtip incuwipawlh 24V Uy hwwn 1000 2 2000
312211100 gtt;lgb LiEynpuljwl Swpnlngh (hgpwdnpiwb Uu ek 2500 5 5000
34331100 QU2 53-h wpglijuldwh Ynanwl Ul hwin 2500 8 20000
34331100 Onh $hjnp QU2 KO440-2 Ul hwwn 5000 | 5000
44161160 <hnpwhly hwdwlupgh ntinpbb inpnyuwly Ul hwwn 7000 2 14000
44161160 <pnpuidhly hwdwlwpgh etinhbit junpnyuwl uu hwwn 5000 2 10000
34331100 hlnniyghnt 4na Ul hwwn 7000 1 7000
34321121 UG 32 jninh wyndy uu hwwn 27000 1 27000
34331300 Qw53 wnglh ouh Q4ynnlp Ul nuuy 11500 1 11500
31221100 El.dwpunlingh hg. ntijk 24V Ul hwwn 5500 | 5500
34331300 agph gnighsh Gnuguali uu hwwn 2600 I 2600
312211100 Qg 53 ghilitipwnnph wonthu Uy ndu 1200 I 1200
312211100 Quq 53 gliiipwwnnp 24V Ul hwwn 37000 | 37000
44161160 ﬁﬂ:};xl;{:rg'r:lhLudmluunqh pwdwbwpwph Ul i 10000 | 10000




44423640 Fwdwlwpwph uwlihly Ul huwiwn 2000 2 4000
44161160 <hnuihh hwdwlpuupgh dhing Ul hwwn 27000 | 27000
34331300 Qwq 53 Ygnpnhsh uljuwnwl Ul hwwn 13000 I 13000
34331300 Quwq 53 thnpuwligdwl Ygnpnhs uuy hwn 35000 1 35000
34321121 8nin quihs KO440-2 /33-09/ uu hwwn 13000 2 26000
34321121 “tha. Junbipwlynipny qunps Ul hwwn 5000 2 10000
44423640 <hnpuyihlh dpungh uughlbip 32.40.6 | Uy hwwn 1500 2 3000
44423640 <hnuyihyh dhungh uwghlokp 30.32.5. 2 Ul hwwn 1500 4 6000
44423640 <hnwyihyh dpungh uwhlyutip 50.58.10 4 Ul hwwn 3000 2 6000
44423640 <pnuyipyh dhungh vwhlubp 50.60.10 5 uu hwwn 3000 2 6000
44423640 NEnnuuwh $hpphg 60,443 5 Uy hwwn 2000 4 8000
34321100 Upglijwhdwl hwdwljupg awgbply 38,36 uu hwn 300 10 3000
9211110 Guipdhsh jnin uu jhup 1500 40 60000
24951300 <hnwyihyh jnen Ul [huip 2200 25 55000
9211600 Luwynin /uwjhnny/ Ul g 2500 10 25000
9211650 Upgbjwldwl hwdwlwpgh htngnel uu |hwp 2600 3 7800
9134100 “thq. pwpd. winippn jniy Ul jhwp 3600 20 72000
9211400 <twhb Gudppwlh jning Ui [hwp 1200 15 18000
34331100 Guipdhsh ntidki Uy hwiwn 4000 1 4000
Wnnwuwhbumwdwubp 283100 1 283100
Clunudbip 835700
33000000 Wpnngwwywhwlwl U jwpnpunnp Wnielip 140000 I 140000
Clhnwiklp 140000

Wolnwwmwlphtip, SwnwynipynLhlitip
90530000 Unpwuwyph pwhwgnpdnid b wpwhwwbinggni b G< npuwd 970000 | 970000
9053000 fﬂ,ﬁglﬂlfil.ﬁ',imﬂftp Pl 00 | g 1200000 1 1200000
il e R L
64111200 Ywwgh dwnwynipnch uu npuwy 50000 | 50000
GPS dwnwynipnih Uy npud 130000 1 130000
71631120 “tnwinhqughw q.90 npuwid 360000 1 360000
90921100 2nh pupfunid q.Q0 npuwd 130000 1 130000
50310000 Luwpuphsh |hgpuwinpnid uu hwin 3000 8 24000
66111200 Pwbluwyhle dwnwynip)nil uu npuwd 20000 1 20000
72211174 <wuiniwljalt dOpwighp uu hwin 700000 I 700000
22811120 dbwpnudtiph quitinqawb gppnuyly uu hwwn 400 120 48000
Chnudtitip 3752000
Llunwdtbp 11990930




